B 3 §h B AP KR T AR B R AR LS A A
PRl L ¥ EIE | B

#te o geg |

gEwds s DO0OOO0O0 (4 88)

A EFE:

—  AROERE 100 A4 e

= HRAARIAR RS

e

WA (30 %)

355 B A T SRR

(1) %% (Taylor) R#H%2 %%

(2) #48 (Weber) R EHH A

(3) &% (Hawthorne) % $2 At B 1%
(4) HErBavEHNLE

(5) YR

waa— (20 &)
2E A

s 6 i AT3E SWOT 2 #r 2 350G A2 B L5k A SWOT Har 25
PR E 9

W= (25 %)
ENN BB FHFHBALARIRRYN—FE S HHTES
BAR s ABEREZGEBEES  WEFENI ZfEHE?

HAAw (25 )
What is the difference between core competence and five-force
analysis?



